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package simplefactory

import “fmt”

//API is interface
type API interface {
Say (name string) string

//NewAPI return Api instance by type
func NewAPI(t int) API {
if t == 1 {
return &hiAPI {}
} else if t == 2 {
return &helloAPI {}
}

return nil

//hiAPI is one of API implement
type hiAPI struct{}

//Say hi to name
func (*hiAPI) Say(name string) string {
return fmt. Sprintf (“Hi, %s”, name)

//HelloAPI is another APl implement
type helloAPI struct{}

//Say hello to name

func (*helloAPI) Say(name string) string {
return fmt. Sprintf (“Hello, %s”, name)
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simple_test.goft#g

package simplefactory
import “testing”

//TestTypel test get hiapi with factory
func TestTypel (t *testing.T) {
api := NewAPI (1)
s := api.Say (“Tom”)
if s 1= “Hi, Tom” {
t. Fatal ("Typel test fail”)

func TestType2(t *testing.T) {
api := NewAPI (2)
s := api.Say("Tom”)
if s != “Hello, Tom” {
t.Fatal ("Type2 test fail”)
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factorymethod.go

package factorymethod

//Operator AZ#5#HFEHISLERIELE
type Operator interface {

SetA (int)

SetB (int)

Result () int

//OperatorFactory #2&1.) #1
type OperatorFactory interface {
Create() Operator

//OperatorBase i2Operator FEI]3EHIHHZE, FHLFELNH T7E
type OperatorBase struct {
a, b int

//Setd WE A
func (o *OperatorBase) SetA(a int) {

o0.a = a

//SetB % & B
func (o *OperatorBase) SetB(b int) {
o.b=b

//PlusOperatorFactory 72 PlusOperator H]1T.) &
type PlusOperatorFactory struct{}
func (PlusOperatorFactory) Create() Operator {

return &PlusOperator {
OperatorBase: &OperatorBase{},
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//PlusOperator Operator HJSZERIESZH
type PlusOperator struct {
*OperatorBase

//Result FHXZE IR
func (o PlusOperator) Result() int {
return o.a + o.b

//MinusOperatorFactory 72 MinusOperator [ 25

type MinusOperatorFactory struct{}

func (MinusOperatorFactory) Create() Operator {
return &MinusOperator {
OperatorBase: &OperatorBase{},

//MinusOperator Operator HJSEZERJESER)
type MinusOperator struct {
*OperatorBase

//Result FFHXZEAR
func (o MinusOperator) Result() int {
return o.a — o0.b

factorymethod _test.go

package factorymethod

import “testing”

func compute (factory OperatorFactory, a, b int) int {
op := factory. Create()
op. SetA (a)

op. SetB (b)
return op. Result ()

func TestOperator (t *testing.T) {
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var (

factory OperatorFactory

factory = PlusOperatorFactory {}
if compute(factory, 1, 2) != 3 {
t. Fatal ("error with factory method pattern”)

factory = MinusOperatorFactory {}
if compute(factory, 4, 2) != 2 {
t. Fatal ("error with factory method pattern”)
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abstractfactory.go

package abstractfactory
import “fmt”

//OrderMainDAO Jyi] 53 10 7%
type OrderMainDAO interface {
SaveOrderMain ()

//OrderDetai IDAO Jyi] H ¥ &4 7%
type OrderDetailDAO interface {
SaveOrderDetail ()

//DAOFactory DAO #1501/ #1

type DAOFactory interface {
CreateOrderMainDAO() OrderMainDAO
CreateOrderDetailDAO() OrderDetailDAO

//BDBMainDAP ¢ 2 1 1] OrderMa i nDAOSE Fy
type RDBMainDAO struct{}
//SaveOrderMain . ..

func (*RDBMainDAO) SaveOrderMain() {
fmt. Print (“rdb main save\n”)

//RDBDetai IDAO Fy7¢ & 4045 JFE 9 OrderDe tai 1DAOSEH
type RDBDetailDAO struct{}
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// SaveOrderDetail ..
func (*RDBDetailDAO) SaveOrderDetail () {
fmt. Print ("rdb detail save\n”)

//RDBDAOFactory #RDB #i5 1.) 28]
type RDBDAOFactory struct{}
func (*RDBDAOFactory) CreateOrderMainDAO() OrderMainDAO {

return &RDBMainDAO{}

func (*RDBDAOFactory) CreateOrderDetailDAO() OrderDetailDAO {
return &RDBDetailDAO {}

J/XMLMainDAO XMLIFfE
type XMLMainDAO struct{}
//SaveOrderMain . ..

func (*XMLMainDAO) SaveOrderMain() {

fmt. Print (“xml main save\n”)
J//XMLDetailDAO XMLIZf%
type XMLDetailDAO struct{}
// SaveOrderDetail ...

func (*XMLDetailDAO) SaveOrderDetail () {
fmt. Print ("xml detail save”)

//XULDAOFactory #ZRDB F#15_1.) L
type XMLDAOFactory struct{}
func (*XMLDAOFactory) CreateOrderMainDAO() OrderMainDAO {

return &XMLMainDAO {}

func (*XMLDAOFactory) CreateOrderDetailDAO() OrderDetailDAO {
return &XMLDetailDAO {}

abstractfactory _test.go

A% SR 3 RSO (www. topgoer.cn) #%E- 10 -



MR T R

package abstractfactory

func getMainAndDetail (factory DAOFactory) {
factory. CreateOrderMainDAO (). SaveOrderMain ()
factory. CreateOrderDetailDAO(). SaveOrderDetail ()

func ExampleRdbFactory() {
var factory DAOFactory
factory = &RDBDAOFactory {}
getMainAndDetail (factory)
// Output:
// rdb main save
// rdb detail save

func ExampleXmlFactory() {
var factory DAOFactory
factory = &XMLDAOFactory {}
getMainAndDetail (factory)
// Output:
// xml main save
// xml detail save

A SR 3 R CRS (www. topgoer.cn) % - 11 -
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builder.go

package builder

//Builder 24 ka5#10
type Builder interface {
Part1 ()
Part2 ()
Part3()

type Director struct {
builder Builder

// NewDirector ..
func NewDirector (builder Builder) #*Director f{
return &Director{
builder: builder,

//Construct Product

func (d *Director) Construct() {
d. builder. Part1 ()
d. builder. Part2 ()
d. builder. Part3 ()

type Builderl struct {
result string

func (b *Builderl) Partl() {
b.result += “1”

func (b *Builderl) Part2() {
b. result += 72”7

SRS A B R SCRS (www. topgoer.cn) - 12 -
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func (b *Builderl) Part3() {
b. result += 73”7

func (b *Builderl) GetResult() string {
return b. result

type Builder2 struct {
result int

func (b *Builder2) Partl() {
b.result += 1

func (b *Builder2) Part2() {
b. result += 2

func (b *Builder2) Part3() {
b. result += 3

func (b *Builder2) GetResult() int {
return b. result

builder_test.go

package builder
import “testing”

func TestBuilderl(t *testing.T) {
builder := &Builderl {}
director := NewDirector (builder)
director. Construct ()
res := builder. GetResult ()
if res != 7123”7 {
t.Fatalf ("Builderl fail expect 123 acture %s”, res)

AT RS A B R SCRS (www. topgoer.cn) - 13 -
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func TestBuilder2(t *testing.T) {
builder := &Builder2 {}
director := NewDirector (builder)
director. Construct ()
res := builder. GetResult ()
if res != 6 {
t. Fatalf ("Builder2 fail expect 6 acture %d”, res)
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prototype.go

package prototype

//Cloneable #2JH7FIXf 52 75 B 1] 1
type Cloneable interface {
Clone() Cloneable

type PrototypeManager struct {
prototypes map[string]Cloneable

func NewPrototypeManager () *PrototypeManager {
return &PrototypeManager {
prototypes: make (map[string]Cloneable),

func (p *PrototypeManager) Get(name string) Cloneable {
return p. prototypes[name]

func (p *PrototypeManager) Set(name string, prototype Cloneable) {
p. prototypes[name] = prototype

prototype test.go

package prototype
import “testing”

var manager *PrototypeManager

SRS A B R SCRS (www. topgoer.cn) - 15 -
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type Typel struct {
name string

func (t *Typel) Clone() Cloneable {
tc = *t
return &tc

type Type2 struct f
name string

func (t *Type2) Clone() Cloneable {
tc = *t
return &tc

func TestClone(t *testing.T) {

tl := manager.Get("tl”)

t2 := tl.Clone()

if t1 == t2 {
t. Fatal ("error! get clone not working”)

func TestCloneFromManager (t *testing.T) {
¢ := manager. Get (“t1”). Clone ()

tl := c. (*Typel)
if tl.name != “typel” {
t. Fatal ("error”)

func init() {
manager = NewPrototypeManager ()

tl := &Typel{
name: “typel”,

}

manager. Set (“t1”7, t1)
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singleton.go

package singleton
import “sync”

//Singleton #2HGfH( 5
type Singleton struct{}

var singleton *Singleton

var once sync. Once

//GetInstance T HHH Bz 5
func GetInstance() *Singleton {
once. Do (func () {
singleton = &Singleton{}

b
return singleton
}
singleton_test.go

package singleton

import (
”sync”
“testing”
)

const parCount = 100

func TestSingleton(t *testing.T) {

insl := GetInstance()
ins2 := GetInstance ()
if insl != ins2 {

t.Fatal (“instance is not equal”)

SRS A B R SCRS (www. topgoer.cn) 7 18 -



B {5 5

func TestParallelSingleton(t *testing.T) {
wg := sync. WaitGroup {}
wg. Add (parCount)
instances := [parCount]*Singleton{}
for i := 0; i < parCount; i++ {
go func(index int) {
instances[index] = GetlInstance ()

wg. Done ()
(1)
1
wg. Wait ()
for i := 1; i < parCount; i++ {
if instances[i] != instances[i-1] {
t. Fatal (“instance is not equal”)
}
1

A SR 3 R SCRS (www. topgoer.cn) % - 19 -
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facade.go

package facade
import “fmt”

func NewAPI() API {
return &apilmpl {

a: NewAModuleAPI (),

b: NewBModuleAPI (),

//API is facade interface of facade package
type API interface {
Test() string

//facade implement
type apilmpl struct {
a AModuleAPI
b BModuleAPI

func (a *apilmpl) Test() string {
aRet := a.a.TestA()
bRet := a.b.TestB()
return fmt. Sprintf (“%s\n%s”, aRet, bRet)

//NewAModuleAPI return new AModuleAPI
func NewAModuleAPI () AModuleAPI {
return &aModulelmpl {}

//AModuleAPI . ..
type AModuleAPI interface {

ARSI HB R SCRS (www. topgoer.cn) - 21 -
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type aModulelmpl struct{}
func (kaModuleImpl) TestA() string f{

return “A module running”

//NewBModuleAPI return new BModuleAPI
func NewBModuleAPI () BModuleAPI {
return &bModulelmpl {}

//BModuleAPI . ..
type BModuleAPI interface {
TestB() string

type bModulelmpl struct{}

func (*bModulelmpl) TestB() string {
return “B module running”

facade_test.go

package facade

import “testing”

var expect = “A module running\nB module running”
// TestFacadeAPI . ..

func TestFacadeAPI (t *testing.T) {

api := NewAPI ()
ret :

api. Test ()
if ret != expect {
t. Fatalf (“expect %s, return %s”, expect, ret)
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adapter.go

package adapter

//Target JEiEHLMG H %0
type Target interface f{
Request () string

/Adaptee AZHIEFECHIH br#E
type Adaptee interface {
SpecificRequest () string

//NewAdaptee A2#5i&FI# 0T 1) KL
func NewAdaptee() Adaptee {
return &adapteelmpl {}

//Adapteelmpl AZ#EEHIHI H Fn2E
type adapteelmpl struct{}

//SpecificRequest & HPIrZEHI— 17772
func (*adapteelmpl) SpecificRequest() string {
return “adaptee method”

//NewAdapter AZAdapterf] L. PRk
func NewAdapter (adaptee Adaptee) Target {
return &adapter {
Adaptee: adaptee,

//Adapter ZF#iAdaptee NTarget £ ]I Il 4%

A5 SR B RSO (www. topgoer.cn) i 4 - 23 -



type adapter struct {
Adaptee

//Request EHTarget#E]
func (a *adapter) Request() string f{
return a. SpecificRequest ()

adapter_test.go

package adapter
import “testing”
var expect = “adaptee method”

func TestAdapter (t *testing.T) {
adaptee := NewAdaptee ()
target := NewAdapter (adaptee)
res := target.Request ()
if res != expect {

t.Fatalf ("expect: %s, actual: %s”, expect, res)
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proxy.go
package proxy
type Subject interface {

Do() string
}

type RealSubject struct{}

func (RealSubject) Do() string {
return “real”

}

type Proxy struct {
real RealSubject

}

func (p Proxy) Do() string {
var res string

/) RSN RZ ATHI LA, 1B, FIBRIR, SEPIEESEXN R, .

res += “pre:”

// R SERT R
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res += p.real.Do()

/) T RIERIE, IR FETR, W GRAETA . .

res += “:after”

return res

proxy_test.go

package proxy

import “testing”

func TestProxy(t *testing.T) {
var sub Subject
sub = &Proxy{}

res := sub.Do()

if res != “pre:real:after” {
t.Fail()
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composite.go

package composite
import “fmt”

type Component interface {
Parent () Component
SetParent (Component)
Name () string
SetName (string)
AddChild (Component)
Print (string)

const (
LeafNode = iota
CompositeNode

func NewComponent (kind int, name string) Component {
var ¢ Component
switch kind {
case LeafNode:
¢ = NewLeaf ()
case CompositeNode:
¢ = NewComposite ()

c. SetName (name)
return c

type component struct {
parent Component
name string

A5 SR B RSO (www.topgoer.cn) i 4 - 27 -



func (¢ *component) Parent() Component {
return c. parent

func (c *component) SetParent (parent Component) {

c. parent = parent

func (c *component) Name() string {
return c. name

func (c *component) SetName (name string) {
c.nhame = name

func (c *component) AddChild(Component) f{}

func (c *component) Print (string) {}

type Leaf struct {

component

func NewLeaf () *Leaf {
return &Leaf {}

func (c *Leaf) Print(pre string) f{
fmt. Printf ("%s—%s\n”, pre, c.Name())

type Composite struct {
component
childs []Component

func NewComposite() *Composite {
return &Composite {
childs: make ([]Component, 0),

func (¢ *Composite) AddChild(child Component) {
child. SetParent (c)
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c.childs = append(c. childs, child)

func (¢ *Composite) Print(pre string) {
fmt. Printf ("%s+%s\n”, pre, c.Name())
pre 4= 7 7
for , comp := range c.childs {

comp. Print (pre)

composite_test.go

package composite

func ExampleComposite() {

root := NewComponent (CompositeNode, “root”)
cl := NewComponent (CompositeNode, “cl1”)

c2 := NewComponent (CompositeNode, “c2”)

¢3 := NewComponent (CompositeNode, “¢3”)

11 := NewComponent (LeafNode, “117)

12 := NewComponent (LeafNode, ”712”)
13 := NewComponent (LeafNode, “13”)

root. AddChild(c1)
root. AddChild (c2)
cl. AddChild(c3)
cl.AddChild(11)
¢2. AddChild(12)
¢2. AddChild(13)

root. Print (7”)
// Output:

// +root

//  +cl

//  +c3

// -1

/] +c2

/) 12

// -13
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flyweight.go
package flyweight
import ”“fmt”

type ImageFlyweightFactory struct {
maps map[stringl*ImageFlyweight

var imageFactory *ImageFlyweightFactory

func GetImageFlyweightFactory() *ImageFlyweightFactory {
if imageFactory == nil {
imageFactory = &lImageFlyweightFactory {

maps: make (map[string]*ImageFlyweight),

}

return imageFactory

func (f *ImageFlyweightFactory) Get(filename string) *ImageFlyweight {
image := f.maps[filename]
if image == nil {
image = NewImageFlyweight (filename)

f. maps[filename] = image
return image

type ImageFlyweight struct {
data string

func NewlmageFlyweight (filename string) *ImageFlyweight {
// Load image file
data := fmt.Sprintf(“image data %s”, filename)
return &ImageFlyweight {

SRS A B R SCRS (www. topgoer.cn) i 30 -
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data: data,

func (i *ImageFlyweight) Data() string {
return i.data

type ImageViewer struct {
*ImageFlyweight

func NewlImageViewer (filename string) *ImageViewer {
image := GetImageFlyweightFactory (). Get (filename)
return &ImageViewer {
ImageFlyweight: image,

func (i *ImageViewer) Display() {
fmt. Printf ("Display: %s\n”, i.Data())

flyweight_test.go

package flyweight
import “testing”

func ExampleFlyweight() {
viewer := NewlmageViewer (“imagel. png”)
viewer. Display ()
// Output:

// Display: image data imagel. png

func TestFlyweight (t *testing.T) {

viewerl := NewlmageViewer (“imagel. png”)

viewer2 := NewlmageViewer (“imagel. png”)

if viewerl. ImageFlyweight !'= viewer2. ImageFlyweight {
t.Fail ()
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decorator.go

package decorator

type Component interface {
Calc() int

type ConcreteComponent struct{}

func (*ConcreteComponent) Calc() int {
return 0

type MulDecorator struct {
Component
num int

func WarpMulDecorator (¢ Component, num int) Component {
return &lulDecorator {
Component: c,

num: num,

func (d *MulDecorator) Calc() int {
return d. Component. Calc () * d.num

type AddDecorator struct f{
Component
num int

func WarpAddDecorator (c Component, num int) Component f{
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return &AddDecorator {
Component: c,

num: num,

func (d *AddDecorator) Calc() int {
return d. Component. Calc() + d.num

decorator_test.go
package decorator
import “fmt”

func ExampleDecorator() {

var ¢ Component = &ConcreteComponent {}

¢ = WarpAddDecorator(c, 10)
¢ = WarpMulDecorator (c, 8)
res := c.Calc()

fmt. Printf (“res %d\n”, res)
// Output:
// res 80
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bridge.go

package bridge
import “fmt”
type AbstractMessage interface {

SendMessage (text, to string)

type MessageImplementer interface {
Send (text, to string)

type MessageSMS struct{}

func ViaSMS() Messagelmplementer {

return &MessageSMS {}

func (*¥MessageSMS) Send(text, to string) {
fmt. Printf (“send %s to %s via SMS”, text, to)

type MessageFmail struct{}
func ViaEmail () Messagelmplementer {

return &MessageEmail {}

func (*#MessageEmail) Send(text, to string) {
fmt. Printf (“send %s to %s via Email”, text, to)

type CommonMessage struct {
method Messagelmplementer
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func NewCommonMessage (method Messagelmplementer) *CommonMessage {
return &CommonMessage {
method: method,

func (m *CommonMessage) SendMessage (text, to string) {
m. method. Send (text, to)

type UrgencyMessage struct {
method MessagelImplementer

func NewlUrgencyMessage (method Messagelmplementer) *UrgencyMessage f{
return &UrgencyMessage {
method: method,

func (m *UrgencyMessage) SendMessage (text, to string) {
m. method. Send (fmt. Sprintf (“[Urgency] %s”, text), to)

bridge test.go

package bridge

func ExampleCommonSMS() {
m := NewCommonMessage (ViaSMS ())
m. SendMessage ("have a drink?”, “bob”)
// Output:
// send have a drink? to bob via SMS

func ExampleCommonEmail () {

m := NewCommonMessage (ViaFmail ())
m. SendMessage ("have a drink?”, “bob”)
// Output:

// send have a drink? to bob via Email

func ExampleUrgencySMS() {
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m := NewUrgencyMessage (ViaSMS ())

m. SendMessage ("have a drink?”, “bob”)

// Output:

// send [Urgency] have a drink? to bob via SMS

func ExampleUrgencyEmail () {
m := NewUrgencyMessage (ViaEmail ())
m. SendMessage ("have a drink?”, “bob”)
// Output:
// send [Urgency] have a drink? to bob via Email
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mediator.go

package mediator

import (
” fmt ”
“strings”
)

type CDDriver struct {
Data string

func (¢ *CDDriver) ReadData() {

c.Data = “music, image”

fmt. Printf ("CDDriver: reading data %s\n”, c.Data)
GetMediatorInstance (). changed (c)

type CPU struct {
Video string
Sound string

func (¢ *CPU) Process(data string) {
sp := strings.Split(data, ”,”)
c. Sound = sp[0]
c.Video = spl[1]

fmt. Printf ("CPU: split data with Sound %s, Video %s\n”, c.Sound, c.Video)
GetMediatorInstance (). changed (c)

type VideoCard struct {
Data string
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func (v *VideoCard) Display(data string) {
v.Data = data
fmt. Printf ("VideoCard: display %s\n”, v.Data)
GetMediatorInstance (). changed (v)

type SoundCard struct {
Data string

func (s *SoundCard) Play(data string) {
s.Data = data
fmt. Printf ("SoundCard: play %s\n”, s.Data)
GetMediatorInstance (). changed (s)

type Mediator struct {
CD *CDDriver
CPU  *CPU
Video *VideoCard
Sound *SoundCard

var mediator *Mediator

func GetMediatorInstance() *Mediator {
if mediator == nil {
mediator = &Mediator {}

}

return mediator

func (m *Mediator) changed(i interface{}) {
switch inst := i. (type) {
case *CDDriver:
m. CPU. Process (inst. Data)
case *CPU:
m. Sound. Play (inst. Sound)
m. Video. Display (inst. Video)

mediator_test.go
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package mediator
import “testing”

func TestMediator (t *testing.T) {
mediator := GetMediatorInstance ()
mediator. CD = &CDDriver {}
mediator. CPU = &CPU{}
mediator. Video = &VideoCard {}
mediator. Sound = &SoundCard{}

//Tiggle
mediator. CD. ReadData ()

if mediator.CD.Data != “music, image” {
t.Fatalf ("CD unexpect data %s”, mediator.CD.Data)

}
if mediator. CPU. Sound != “music” {

t. Fatalf ("CPU unexpect sound data %s”, mediator.CPU. Sound)
}

if mediator. CPU.Video != “image” {
t. Fatalf ("CPU unexpect video data %s”, mediator.CPU.Video)

}
if mediator.Video.Data != “image” {

t. Fatalf ("VidoeCard unexpect data %s”, mediator.Video.Data)
}
if mediator. Sound.Data != “music” {

t. Fatalf (“SoundCard unexpect data %s”, mediator.Sound.Data)
}
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obserser.go

package observer
import “fmt”

type Subject struct {
observers []Observer
context  string

func NewSubject() *Subject f{
return &Subject {

observers: make ([]Observer, 0),

func (s *Subject) Attach(o Observer) {

s. observers = append (s. observers, o)

func (s *Subject) notify() {
for , o := range s.observers {
o. Update (s)

func (s *Subject) UpdateContext(context string) {
S. context = context
s.notify ()

type Observer interface {
Update (%Subject)

type Reader struct {
name string
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func NewReader (name string) *Reader {
return &Reader {

name: name,

func (r *Reader) Update(s *Subject) f{
fmt. Printf ("%s receive %s\n”, r.name, s.context)

obserser_test.go

package observer

func ExampleObserver() {
subject := NewSubject ()

readerl := NewReader (“readerl”)
reader2 := NewReader (“reader2”)
reader3 := NewReader (“reader3”)

subject. Attach (readerl)
subject. Attach (reader2)
subject. Attach (reader3)

subject. UpdateContext (“observer mode”)
// Output:

// readerl receive observer mode

// reader?2 receive observer mode

// reader3 receive observer mode
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command.go

package command
import “fmt”

type Command interface {
Execute ()

}

type StartCommand struct {
mb *MotherBoard

}

func NewStartCommand (mb *MotherBoard) *StartCommand {
return &StartCommand {
mb: mb,
}
}

func (¢ *StartCommand) Execute() {
c. mb. Start ()
}
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type RebootCommand struct {
mb *MotherBoard

func NewRebootCommand (mb *MotherBoard) #*RebootCommand {
return &RebootCommand {
mb: mb,

func (¢ *RebootCommand) Execute() {
c. mb. Reboot ()

type MotherBoard struct{}

func (#MotherBoard) Start() {
fmt. Print (“system starting\n”)

func (#MotherBoard) Reboot () {
fmt. Print (“system rebooting\n”)

type Box struct {
buttonl Command

button2 Command

func NewBox (buttonl, button2 Command) *Box {
return &Box {
buttonl: buttonl,
button2: button2,

func (b *Box) PressButtonl() {
b. buttonl. Execute ()

func (b *Box) PressButton2() {
b. button2. Execute ()
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command_test.go

package command

func ExampleCommand() {
mb := &MotherBoard{}

startCommand := NewStartCommand (mb)
rebootCommand := NewRebootCommand (mb)
box1 := NewBox (startCommand, rebootCommand)

box1. PressButtonl ()
box1. PressButton2 ()

box2 := NewBox (rebootCommand, startCommand)

box2. PressButtonl ()
box2. PressButton2 ()
// Output:

// system starting
///Systom rebooting
// system rebooting

// system starting
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iterator.go

package iterator
import “fmt”

type Aggregate interface {

Iterator () Iterator

type Iterator interface {
First ()
IsDone () bool
Next() interface{}

type Numbers struct {
start, end int

func NewNumbers (start, end int) *Numbers {
return &Numbers {
start: start,
end: end,

func (n *Numbers) Iterator() Iterator {
return &NumbersIterator {
numbers: n,

next: n. start,

type NumbersIterator struct {
numbers *Numbers
next int
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func (i *NumbersIterator) First() {

i.next = 1i.numbers. start

func (i *NumbersIterator) IsDone() bool {

return i.next > i.numbers. end

func (i *NumbersIterator) Next() interface{}

if !i. IsDone() {
next := i.next
i. next++
return next

}

return nil

func IteratorPrint(i Iterator) {
for i.First(); !i.IsDone(); {
c := i.Next()
fmt. Printf ("%#v\n”, c)

iterator_test.go

package iterator

func ExampleIterator() {
var aggregate Aggregate
aggregate = NewNumbers(l, 10)

IteratorPrint (aggregate. I[terator())
// Output:

//
/
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templatemethod.go

package templatemethod
import “fmt”

type Downloader interface {

Download (uri string)

type template struct {
implement

uri string

type implement interface {
download ()

save ()

func newTemplate (impl implement) *template {
return &template{
implement: impl,

func (t *template) Download(uri string) {
t.uri = uri
fmt. Print ("prepare downloading\n”)
t. implement. download ()
t. implement. save ()
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fmt. Print ("finish downloading\n”)

func (t *template) save() {
fmt. Print ("default save\n”)

type HTTPDownloader struct {
*template

func NewHTTPDownloader () Downloader {
downloader := &HTTPDownloader {}
template := newlemplate (downloader)
downloader. template = template
return downloader

func (d *HTTPDownloader) download() {
fmt. Printf ("download %s via http\n”, d.uri)

func (*HTTPDownloader) save() {
fmt. Printf ("http save\n”)

type FTPDownloader struct f
*template

func NewFTPDownloader () Downloader f{
downloader := &FTPDownloader {}
template := newlTemplate (downloader)
downloader. template = template
return downloader

func (d *FTPDownloader) download() {
fmt. Printf ("download %s via ftp\n”, d.uri)

templatemethod test.go

package templatemethod
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func ExampleHTTPDownloader () {
var downloader Downloader = NewHTTPDownloader ()

downloader. Download ("http://example. com/abc. zip”)
// Output:

// prepare downloading

// download http://example. com/abc. zip via http
// http save

// finish downloading

func ExampleFTPDownloader () {
var downloader Downloader = NewFTPDownloader ()

downloader. Download (“ftp://example. com/abc. zip”)
// Output:

// prepare downloading

// download ftp://example. com/abc. zip via ftp
// default save

// finish downloading
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strategy.go

package strategy
import “fmt”

type Payment struct {
context *PaymentContext

strategy PaymentStrategy

type PaymentContext struct {
Name, CardID string
Money int

func NewPayment (name, cardid string, money int, strategy PaymentStrategy) *Payme
nt {
return &Payment {
context: &PaymentContext {
Name : name,
CardID: cardid,
Money: money,
b,

strategy: strategy,

func (p *Payment) Pay() {
p. strategy. Pay (p. context)

type PaymentStrategy interface {
Pay (*PaymentContext)

type Cash struct{}

func (*Cash) Pay(ctx *PaymentContext) {
fmt. Printf ("Pay $%d to %s by cash”, ctx.Money, ctx.Name)
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type Bank struct{}

func (¥Bank) Pay(ctx *PaymentContext) {

fmt. Printf ("Pay $%d to %s by bank account %s”, ctx.Money, ctx.Name, ctx.Card
1D)

strategy_test.go

package strategy

func ExamplePayByCash() {
payment := NewPayment (“Ada”, 7”7, 123, &Cash{})
payment. Pay ()
// Output:
// Pay $123 to Ada by cash

func ExamplePayByBank () {
payment := NewPayment (“Bob”, ”70002”, 888, &Bank{})
payment. Pay ()
// Output:
// Pay $888 to Bob by bank account 0002
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state.go

package state
import “fmt”
type Week interface {

Today ()
Next (*#DayContext)

type DayContext struct {
today Week

func NewDayContext () *DayContext {
return &DayContext {
today: &Sunday {},

func (d *DayContext) Today() {
d. today. Today ()

func (d *DayContext) Next() {
d. today. Next (d)

type Sunday struct{}
func (*Sunday) Today() {

fmt. Printf (“Sunday\n”)

func (*Sunday) Next (ctx *DayContext) {
ctx. today = &Monday {}

type Monday struct {}
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func (kMonday) Today () {
fmt. Printf ("Monday\n”)

func (*Monday) Next (ctx *DayContext) {
ctx. today = &Tuesday{}

type Tuesday struct{}

func (*¥Tuesday) Today() {

fmt. Printf (“Tuesday\n”)

func (*¥Tuesday) Next(ctx *DayContext) {
ctx. today = &Wednesday {}

type Wednesday struct{}

func (¥Wednesday) Today() ({

fmt. Printf ("Wednesday\n”)

func (*¥Wednesday) Next (ctx *DayContext) {
ctx. today = &Thursday {}

type Thursday struct{}
func (kThursday) Today() {

fmt. Printf (“Thursday\n”)

func (¥Thursday) Next(ctx *DayContext) {
ctx. today = &Friday {}

type Friday struct({}
func (*¥Friday) Today() {

fmt. Printf ("Friday\n”)

func (*¥Friday) Next (ctx *DayContext) {
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ctx. today = &Saturday {}

type Saturday struct{}

func (kSaturday) Today() {
fmt. Printf (“Saturday\n”)

func (*¥Saturday) Next(ctx *DayContext) {
ctx. today = &Sunday {}

state_test.go

package state

func ExampleWeek() {
ctx := NewDayContext ()
todayAndNext := func() {
ctx. Today ()
ctx. Next ()

for i :=0; i <8; i++ {
todayAndNext ()

1

// Output:

// Sunday

// Monday

// Tuesday

// Wednesday

// Thursday

// Friday

// Saturday

// Sunday
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memento.go

package memento

import “fmt”

type Memento interface{}
type Game struct {

hp, mp int

type gameMemento struct {
hp, mp int

func (g *Game) Play(mpDelta, hpDelta int) {
g.mp += mpDelta
g.hp += hpDelta

func (g *Game) Save() Memento {
return &gameMemento {
hp: g. hp,
mp: g.mp,

func (g *Game) Load(m Memento) {

gm := m. (*gameMemento)
g.mp = gm. mp
g.hp = gm. hp

func (g *Game) Status() {
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fmt. Printf ("Current HP:%d, MP:%d\n”, g.hp, g. mp)

memento_test.go

package memento

func ExampleGame () {

game := &Game {
hp: 10,
mp: 10,

1

game. Status ()
progress := game. Save ()

game. Play (-2, -3)
game. Status ()

game. Load (progress)
game. Status ()

// Output:

// Current HP:10, MP:10
// Current HP:7, MP:8
// Current HP:10, MP:10
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interpreter.go

package interpreter

import (
”strconv”
“strings”

type Node interface {
Interpret () int

type ValNode struct {
val int

func (n *ValNode) Interpret() int {
return n. val

type AddNode struct {
left, right Node

func (n *AddNode) Interpret() int {
return n. left. Interpret() + n.right. Interpret()

type MinNode struct {
left, right Node

func (n *MinNode) Interpret() int {
return n. left. Interpret() — n.right. Interpret ()
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type Parser struct {
exp [lstring
index int
prev Node

func (p *Parser) Parse(exp string) {
p.exp = strings.Split(exp, ” 7)

for {
if p.index >= len(p. exp) {
return

}

switch p. exp[p. index] {
case “+7:
p. prev = p. newAddNode ()

”_ 7,

case

p. prev = p. newMinNode ()
default:
p. prev = p. newValNode ()

func (p *Parser) newAddNode() Node f{
p. index++
return &AddNode {
left: p.prev,
right: p.newValNode (),

func (p *Parser) newMinNode () Node {
p. index++
return &MinNode {
left: p.prev,
right: p.newValNode (),

func (p *Parser) newValNode () Node {
v, _ := strconv. Atoi (p. exp[p. index])
p. index++
return &ValNode {
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func (p *Parser) Result() Node {
return p. prev

interpreter_test.go

package interpreter
import “testing”

func TestInterpreter(t *testing.T) {
p := &Parser{}
p.Parse("1 + 2 +3 -4 +5 -6")
res := p.Result(). Interpret ()
expect := 1
if res != expect {
t. Fatalf (“expect %d got %d”, expect, res)
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chain.go

package chain
import “fmt”

type Manager interface {
HaveRight (money int) bool
HandleFeeRequest (name string, money int) bool

type RequestChain struct {
Manager
successor *RequestChain

func (r *RequestChain) SetSuccessor (m *RequestChain) {

r.successor = m

func (r *RequestChain) HandleFeeRequest (name string, money int) bool {
if r.Manager. HaveRight (money) {
return r. Manager. HandleFeeRequest (name, money)

}

if r.successor != nil {
return r. successor. HandleFeeRequest (name, money)

}

return false

func (r *RequestChain) HaveRight (money int) bool {
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return true

type ProjectManager struct{}

func NewProjectManagerChain() *RequestChain {
return &RequestChain {
Manager: &ProjectManager {}

func (kProjectManager) HaveRight (money int) bool {
return money < 500

func (*#ProjectManager) HandleFeeRequest(name string, money int) bool {
if name == "bob” {
fmt. Printf ("Project manager permit %s %d fee request\n”, name, money)
return true
}
fmt. Printf ("Project manager don’ t permit %s %d fee request\n”, name, money)
return false

type DepManager struct {}

func NewDepManagerChain() *RequestChain {
return &RequestChain {
Manager: &DepManager {},

func (*¥DepManager) HaveRight (money int) bool {
return money < 5000

func (*¥DepManager) HandleFeeRequest (name string, money int) bool {
if name = “tom” {
fmt. Printf ("Dep manager permit %s %d fee request\n”, name, money)
return true
1
fmt. Printf ("Dep manager don’ t permit %s %d fee request\n”, name, money)
return false

type GeneralManager struct{}
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func NewGeneralManagerChain() *RequestChain {
return &RequestChain {

Manager: &GeneralManager {},

func (*GeneralManager) HaveRight (money int) bool {
return true

func (*GeneralManager) HandleFeeRequest(name string, money int) bool {
if name == "ada” {
fmt. Printf ("General manager permit %s %d fee request\n”, name, money)
return true
}
fmt. Printf (“General manager don’ t permit %s %d fee request\n”, name, money)
return false

chain_test.go

package chain

func ExampleChain() {

cl := NewProjectManagerChain ()
c2 := NewDepManagerChain ()
c3 := NewGeneralManagerChain ()

cl. SetSuccessor (c2)

c2. SetSuccessor (c3)

var c Manager = cl

c. HandleFeeRequest (“bob”, 400)

c. HandleFeeRequest (“tom”, 1400)

c. HandleFeeRequest (“ada”, 10000)

c. HandleFeeRequest (“floar”, 400)

// Output:

// Project manager permit bob 400 fee request
// Dep manager permit tom 1400 fee request

// General manager permit ada 10000 fee request

// Project manager don’t permit floar 400 fee request
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visitor.go

package visitor
import “fmt”
type Customer interface {

Accept (Visitor)

type Visitor interface {
Visit (Customer)

type EnterpriseCustomer struct {
name String

type CustomerCol struct {
customers []Customer

func (¢ *CustomerCol) Add(customer Customer) {

c. customers = append (c. customers, customer)

func (¢ *CustomerCol) Accept(visitor Visitor) {
for , customer := range c.customers {

customer. Accept (visitor)

func NewEnterpriseCustomer (name string) *EnterpriseCustomer {
return &EnterpriseCustomer {

name: name,
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func (c *EnterpriseCustomer) Accept (visitor Visitor) f{

visitor. Visit (c)

type IndividualCustomer struct {
name string

func NewIndividualCustomer (name string) *IndividualCustomer {
return &IndividualCustomer {

name: name,

func (¢ *IndividualCustomer) Accept (visitor Visitor) f{

visitor. Visit(c)

type ServiceRequestVisitor struct{}

func (xServiceRequestVisitor) Visit(customer Customer) {
switch ¢ := customer. (type) {
case *EnterpriseCustomer:
fmt. Printf (“serving enterprise customer %s\n”, c.name)
case *IndividualCustomer:
fmt. Printf (“serving individual customer %s\n”, c.name)

// only for enterprise

type AnalysisVisitor struct{}
func (*AnalysisVisitor) Visit(customer Customer) f{
switch ¢ := customer. (type) {

case *EnterpriseCustomer:
fmt. Printf (“analysis enterprise customer %s\n”, c.name)

visitor_test.go

package visitor

func ExampleRequestVisitor() {
¢ := &CustomerCol {}
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. Add (NewEnterpriseCustomer (“A company”))
. Add (NewEnterpriseCustomer ("B company”))
. Add (NewIndividualCustomer (“bob”))

. Accept (&ServiceRequestVisitor{})

// Output:

// serving enterprise customer A company

C
C
C
Cc

// serving enterprise customer B company

// serving individual customer bob

func ExampleAnalysis() {

¢ := &CustomerCol {}

c. Add (NewEnterpriseCustomer (“A company”))
c. Add (NewIndividualCustomer (“bob”))

c. Add (NewEnterpriseCustomer ("B company”))
c. Accept (&AnalysisVisitor{})

// Output :

// analysis enterprise customer A company

// analysis enterprise customer B company
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